


hw2_1_list
hw2_1_sol
sig0 =
    0.0632

    x1         x2       x3        x4        x6        x7        x8        x10       x11       x12
delt =
  189.2560  190.0151  192.3574  194.2095  188.6607  199.3724  196.0690  192.1488  201.2646  200.6615

      #          l        ns        sig       wt       d          f          v       lhat
ans =
    1.0000    0.7610    3.0000    0.0346    3.3333         0   -0.7610   -0.0018    0.7592
    2.0000    2.1440    5.0000    0.0447    2.0000         0   -2.1440   -0.0103    2.1337
    3.0000    9.1380    8.0000    0.0566    1.2500         0   -9.1380   -0.0222    9.1158
    4.0000    0.5920    4.0000    0.0400    2.5000         0   -0.5920    0.0111    0.6031
    5.0000    1.2640    9.0000    0.0600    1.1111         0   -1.2640    0.0250    1.2890
    6.0000    3.4720    6.0000    0.0490    1.6667 -195.9000 -199.3720    0.0004    3.4724
    7.0000    7.2350    7.0000    0.0529    1.4286  195.9000  188.6650    0.0043    7.2393
    8.0000    0.5990    6.0000    0.0490    1.6667         0   -0.5990   -0.0037    0.5953
    9.0000    1.7100    6.0000    0.0490    1.6667  195.9000  194.1900   -0.0195    1.6905
   10.0000    1.8360    5.0000    0.0447    2.0000         0   -1.8360    0.0235    1.8595
   11.0000    3.2980    2.0000    0.0283    5.0000         0   -3.2980    0.0054    3.3034
   12.0000    1.8420    7.0000    0.0529    1.4286         0   -1.8420    0.0101    1.8521
   13.0000    2.3350    5.0000    0.0447    2.0000         0   -2.3350    0.0072    2.3422
   14.0000    2.6440   10.0000    0.0632    1.0000  194.8000  192.1560    0.0072    2.6512
   15.0000    1.2750    3.0000    0.0346    3.3333 -194.8000 -196.0750   -0.0060    1.2690
diary off
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